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Day | - Mathematics

WALT: Count inv 2s, 3s, Ss and [0s.

Todmg,swhnelessomwdb}ow&omwunhng}orwmd&wsfzp&o}Zs 3s, 5s ands 10s. We will

Complete the following sequences:

@ 4 6 8 10 _ p_ 24 21 15 12
)50 45 35 25 P35 40 50 __ 60
9 6 9 12 _ 18 h) 111 81 71 61
HA0 60 50 40 D 32 30 28 26
D16 __ 36 46 b6 P1020___ _ 5060

Continue the following sequences:
k)5 10 15
D3 69 __
m) 85 80 75

n) 14 24 34

D2 4 6 _
p) 50 55 60
q) 45 42 39
)70 68 66
147 137 127

Challenge: Choose a starting number and count in 2s, 5s or 10's from that
number. Can you think of a way in which counting in 5 s is different from
counting in 2s or 10 s?



Count in 2s backwards to complete the
number track.

21?7 ? |40 |42 |44 | 46
\VAVAVAVAVAV,

2less 2less 2Zless 2less 2less 2 less

If you continue counting, will you say the
number 257

Odd One Qut

Which is the odd one out? Explain your

dnswer.

Jemima is counting in 10s on part of a
hundred square.

1 2 3 4 a & 7 5] 9 10

n 2 11&a (14115 |6 | 7 (18 )19 |20

2|22 | 23 (24|25 28| 27| 28| 29|30

3 | 32 | 33 ) 34 | 35 | 36 | 37 | 38 | 39 | 40

41 | 42 | 43 [ 44 | 45 | 48 | 47 | 48 | 49 | 50

She starts at 10

Shade in all the numbers Jemima will
say.

What is the same about the numbers
she says?

What is different about the numbers?







Day | - Literacy
WALT: Answer questions aboub o texts

Imﬂw@umb,wemwwbebohng,ab@sbrgabwbwsmnﬂwb}dlsfoEanﬂum

l&}ound:b&d;a;hcd,gd'\og/, on/owl;ond;a;badgm Ead\;o!ﬁﬂ\mumu\@stﬂnma,d#a@b

Today's on-line lessory wills focus onv reading and, understanding the story ‘Alfie’s
Star’.

Alie's Star
Once uporv as time, there was a little boy, called, Alfie who- liked,
Iriends.

Late one cold, Jrosty emening, Allie gazed up ab all the stars

First, o prickly hedgehog who had, lost his way came snuffling
through the forest. He found the star, shining as bright as the
sun, irvthe middle of av small pile of leares. “This star will
So, he pushed the star along the pathy until he: arrived,

Next, o barn owd, flew downy as silent as a floating Jeather:
night,” she said. So, she snatched the glowing star, flewe up
owlets.




But, the, owlets wriggled, and, they jiggled, and, they flipped the,
star rights oub of the nest]

Ater that, a weary, old badger came shuffling along. He samw
the star winking ab him like: o lighthouse fromv the, branches of
he said. So, he reached up; lifted the star down and,

carefully, carried it back to- his sett. Once inside; he placed,

settled downy by the fire to read, o bedbime story.

Soony badger fell asleep dreaming of sunny spring days
when he would play withs his [riends again. As his dreams

and brightest star; he Jound it once agairv dazzling like a
although he couldn't be sure, it seemed, the star was smiling
back.



w’d\esibf\{é«?
I liked, ...
Hawgowgotam&:apeshon&aboub Dogowknowong,oﬂwr\stoﬂes«aboub
U'wsi'ory/? stars or animals?

I was Vv«ondﬂ\rug/



o Can yow remember who said, what irv the story?
e Read the story again and, drawe the characters net to- their speech bubble.
e In the blank speech bubble, write what yow think: Alfie might: have said, ab the

That star will help keep
me company tonight.

This star will help warm
my owl| babies on
this wintry night.

This star will help me
find my way home
on this dark night.



Quiz Timel
Try to- answen these, questions inv sentences:
. Why do- you think, Alfie likes owls, dinosaurs and, ice-cream?
2. Write, dows three things that you like:
3. How do- you think he Jelts when he, sam the star fall, down iny the, Jorest?
k. Why do you think the star tumbled, out o the, skiy?
5. Who Jound the star? Could, anyy other animals hawe Jound, the star?
6. How- did, the star help each animal?
7. Why does the story happen ab night time?

8. Howdogmhﬂ\mk;ﬂwowbbabawandﬂ\mmm}dbwhmﬂwﬂ?yrwhsed;ﬂw&
sfanhad;}ollﬂvoubo}ﬂ\enesﬂ?

q. Whg,dogmuﬂunkﬂ\esfanwenbbod@mfoﬂwskg?






DOAJ/Z— Mathematics

value of each digit iv a two-digit number.

WALT: Understand, the

TW&WWMMMMWWO}MWW@MWW

Number Words Expanded Form Picture
~____0Ones (I rry
18 tens
i =
8 ones
tens (AT &
+ |
ones LIy
tens |#F¥Fﬁ¥ﬂgg
=+ =
ones T (9
tens e O
- = = e (7 6
Ones Ty (9 (7
tens
40+ =
6 ones
tens
56 | — _

Ones




Number

Words

Expanded Form

Picture

33

__ tens

Ones

56

tens

ONnes

4 tens

Ones

tens
/ ones

64

tens

Ones

tens
6 ones

92

tens

OTLES




One of these images does not show 23
Can you explain the mistake?
C

Il == BEE.

Fill in the missing numbers.

JC ]
]
y 0
]

JLIRC I
JLIR 0

e
E][] ;][
60

Tten 4+ 30ones =13
2tens+ _ ones =23
3 tens + 3 ones =

___tens 4+ 3 o0nes =43

What would the next number in the
pattern be?






DOAJ/Z—I_UX’J‘O.QH/

WALT: Understand the, meaning of key vocabulary.

WOf‘dJS'.

\

w0

=

Words about stars

I} yow garze at: something, youw look ats something for a long, time. A
person who- looks ab stars regulanly is called o stargarzer.
clouds.

Try gazing ab anv objeck near yow or maybe gaze ab someone v your

family)

Astreakwaﬂmlmeq]lsomeihmg;ﬂwatu&mﬂgmove&}ost It can

The shooting star streaked, pasts

A streak, of lightning b up the, sky.
Lightning streaked, across the skiy
Streaks ot rairy poured: dow

Drame o picture to- ilustrate the words

Someﬂwxg;ﬂwbdawzle&s}wws;bmﬂmr\ihau Itcouldjbesovergzbr\ight
wawmonlgbokabib}oh@s}mm

I}somwtakwa/pwfweo}gowwiﬂv@ﬂash yow mighl be, dazzled
and, blinks Cary yow think of three things that mighty dazzle you? Try,

familyl




dar | Jish
storfish,

Somf/word&omnwde}(mmtwowm\d&t}omﬂd;togfﬂw Thesew\e/oaued;wnpound:
words.

Comgowﬂwd@o}omd/nwf\eoon\pow\d:wm\d&t}wbhuwstanwtham7 White themv
dowrv.




Day 3 - Mathematics

WALT: Represent, numbers on a number line,

the, position of two-digity numbers onv a number line.

a) 45

0 100
bl 13

I |
0 100
) 98
. 0|
0 100
d) 75

. 000000
0 100
e) 26

l I
0 100
f157
N
0 100
q) 24



Read each statement and decide if it is &
true or false. Explain how you know.

The arrow is pointing to 2.

30 40
| | | | | |
L L
80 100
= 50
The arrow is pointing to 25.
0 - ‘ = 50

Ahmed marks a number on the number line.

o |

- + 100

Which of these could represent Ahmed's number?
Circle them and explain why.

' )
four tenz and

fives ones

—







Day 3 - Literacy

WALT: Plan o story.

TW’&WWMWWMMWWO}‘A%’&S@’ orv a story
mountain.

Irv the blank squares belows, drawe and, labels the mairy exents that: happer before and,
aﬁm\ﬂwowboppmmond;snobchm’dw@stam Tohdpgou;, I've writtery inv the words

First, After thot,

Onces upon, Finally,




Day 4 - Mathematics

WALT: Compare numbers.

digit numbers using <, > and =.

Add < or > to the below number pairs to make them correct.

1212 15 2)30 22 3100 M 4) 46 41
2022 18 b) 64 4b 7142 20 8)22 20
970 &7 125 30 1130 24 12221 1N

Great! Now try with pictures.

@O@OO vivjvivly
VAV viviviviv

Can you give the below problems a number to make them nght?

1122 < 214 > 3182 < 497 >
5117 = h) 28 > 71499 « B33 >
Q) 50 > 10) 66 < 1176 > 12) 52 <

13) 60 > 14) 72 < 12) 4 > 16) 81 <



Rosie and Amir are comparing numbers
they have made.

Rosie's number Amir's number

an
an
at
@ My number is
greater because |

have more objects.

Is Rosie correct?

Explain your answer.

Add more Base 10 to make the number
shapes and the Base 10 equal.

]

:
BE
i

How much did you add in total to make
them equal?

What is the smallest amount you could
add if the symbol changed to <?






Day &4 - Literacy

WALT: Recount the ‘Alie’'s Star'.

TW&WWWMWMWWWO{DAW&S@ Use;g,oux\
sentences backs

Capital, letters
Full, stops
Finger spaces
Adjectives







DagS—Moﬂwanahw

Today's on-line lessony wills focus onv reading numbers in words' and, numerals and,
r\epresenhng;munba\susinngasem.

MHumsrals MHumbar in Words Tens Ones INustration

= wenty thres 2 3 as| as|

17 o e

Challenge

Mumerals | Mumber in Waords Hundreds | Tens Ones | Mustration




Write a number in numerals and words with-

Numeral Number in Words

0 tens

Z ones

5 tens

3 ones

4 tens

9 ones

1 ten

8 ones

4 tens

1 ones

Z tens

Order the numbers from the smallest to
the greatest.

"How many possible numbers could you W
_have had? )







Day S - Literacy

WALT: T the used v @ .

vocobulmgused:in;‘Al}ids Star.

Irv the story, there are words thab describe stars. Can yow be o word, detectisve and,
track them, down?

Write a list of thems on the star. Carv youw think of more; words to- describe o star and,
add them to- your list? This will help you when youw write: your own story about o
star.

What are they like?



What
do
they do?



Whu\emig}\bymseejstap&?

The top/ogfla
Christmas tree



Fumlh&;conbn@ynunldeo&fomak@diﬁa‘enbsenbenm Se,ehowmcniézymcam

A bright star shines ab the top of a; Christmas tree.

*

*




Day 6 - Mathematics
WALT: Add: o two-digit number to o one-digit, number.

Todagf&wlessoleLﬁoawomadding;wZ—digibnumb@towl-digibnwnbm

crossing/|0.

1. 5+6= 2 8+3=
15+6= 18+3=
45+ b= 3B+3=
b+ 6 = JB+3=

3. b+8= 4 7+5=
1A+ 8= 1745 =
4 + B = 67 +5 =

L. E+0= O b+/m=
15+9= T6+7 =
L5+ 9 = 4b + /7 =
85 + 9 = fo+ 7=

7. 94+3= B 4+9=
1943 = 14 +9 =
5Cr+3= H +9 =
99 + 3 = 4 +9=

9 7+8= 10. 5+8 =
17+8= 15+8=
BT +R= 65 + 8 =
Q7 + B = 85 +8=




T+ 4= 8 +6 =
17 + & = 18 + & =
b7 + 4 = 28 + 6 =
67 + 4 = 68 + 6 =
6+ 8= T+6 =
16 + 8 = 17+ 6 =
36 + 8 = 47 + 6 =
a6 + 8 = 67 + b =
12 + 2 = @+ 7=
22 + 2 = 19 + 7 =
b2 + 2 = 39+ 7=
22 + 2 = Q9 + 7 =
11 +3 = 4 + 8 =
19 + 3 = 14 + & =
39+ 3= 44 + & =
99 + 3 = 64 + 5 =
@+ 8= a+ 8=
19 + 8 = 15+ & =
49 + 8 = 65 + 8 =
9+ 8= 23 + & =




Always, Sometimes, Never

4 ™
| am thinking of a two-
digit number, if | add ones
to it,| will only need to
change the ones digit.

5

Explain your answer.

Here are three digit cards.

678

Place the digit cards in the number
sentence.

How many different totals can you find?

U+

What is the smallest total?

What is the largest total?






Day 6 - Literacy
WALT: Use similes.

about stars.

Your oW, White them dowry v av list.

Stars are like silier rainbows. SMW%M%WA&




On@qflow\stax\sfls/rrussmgl
Inv our story, the biggest and: brightest star Jell, from the
s Cary youw desig a missing posten to- help find. £2 You
ands similes so- people knows what t; Looks like:

MiSSingt |

Have you seen fthis star ?

‘prostesecogn

. [wQQQUOODQ ....' :. . " "_' e

vt ed tons|l ioenona0 s

4 Qe
1 senondoe
ot o




Day /7 - Mathematics

WALT: Subtract a one~digit number a two-digit number.

Today's on-lesson will focus onv subtracting |-digibnumba\&!lf\onn2-digibnumba\&,

cnos&ingﬂ().

]I'-.ll|_= 8-1-=
17 -4 = 18 -1 =
27 -4 = 28 -1-=
3T -4 = JE-1-=
84-3= Q-2=
18 -3 = 12 -2 =
":|'E—3= -':}Q_.E:
28 -3 = 659 -2 =
12 -5 = 15 -5 =
22 -5= 25 -5 =
32 -5 = 15 _5 =
T2 -5 = 95 _5 =
20-5 = 13 -7 =
40 -5 = 23 -T-=
T -5 = 43 - T =
a0 -5 = 73-7T=
16 -3 = 12 -3 =
26 -3 = 22 -3 =
2 -3 = 72 -3 =
Th -3 = 82 -3 =




15 -6
25 -6

45 - 6

Q5 -6

21 - 4
31 -4

41 - &

61 — &

11 -

n
i

21 -

n
i

31-7-=

e,

21 -

-

12 -5 =
22 -

Lh
Il

62 -3 =

22 -3 =

12 - ¢
253 -9
i3 -9 =

2

73 -

20-7T=
30-7-=
&40 —

-
i

B0-7=

16 -9

26 -9

b -9

S6 -9

12 -7 =

32 -T=
32 -T-=
T2 -7=




Teddy works out 15 -6 -
This is Teddy’s working out: @%
15-5=10-1=9

Why is Teddy's working out wrong?

Use <, = or = to make the statements

correct. | can do this without

working out any answers.

MN—7 o N—4

Is Whitney correct? Explain how you know.






Day 7 - Literacy

WALT: Plan o story.

Todatéz's,onrlinel@ssomwdbﬂoawomplannm/g/oupowmstmybosed;om'AlﬁdsSfaﬂ.

1" animal and what they
did with the star
First,

Once upon a time, ..
Put your main character’s
name here:

2™ animal and what they
did with the star
Mext, ..
34 animal and what they
did with the star
After that, _

lll,l"‘-

{ \II'.

! Finally. .

| I| 1 I'-.III

. F

- |




Day 8 - Mathematics

WALT: Add and subtract i [0.

Todagswhmlessommlb}ow&maddmgond:wbhﬂdu\g/mﬂhplmolﬂo to- and,

from, 2-digit numbers.

1.30+ 10 = 2 20+ 30=
3B +10= 25 +30 =
37+ 10= 26+ 30 =
38+ 10= 29+ 30 =
310+ 20 = 4. 40 4+ 50 =
16+20= 43 + 50 =
17+20= 44 + 50 =
19+ 20 = 48 + 50 =
5. 504+ 30 = b 20+ 60 =
B4 + 30 = 25+ 60 =
5 +30= 27 + 80 =
5B+ 30 = 28 + 60 =
7. 6D+ 20 = 4 710+ 20=
61+ 20 = f2+20=
bl + 20 = +20=
6B+ 20 = 18+ 20 =
9 +40=70 10 +60=90
4+ 40=71 — +60=a3
44074  +6D=95
 +40=77 — +60=99




20 - 10 = 21 - 20 =
10 - 10 = 41 - 20 =
60 - 10 = 51 - 20 =
70 - 10 = 71-20=
317 - 10 = 19 - 30 =
57 - 10 = 59 - 30 =
BT - 10 = 79 - 30 =
97 - 10 = 89 - 30 =

62 - 60 =
43 - 40 =

72 - 60 =
53 - 40 =

82 - 60 =
73 - &40 =

92 - 60 =
93 - 40 =
25 - 20 = 59 - 50 =
15 - 20 = 69 - 50 =
45 - 20 = 79 - 50 =
B5 - 20 = 99 - 50 =

- 10=7
- 10=27
-10=37

- 10 =77

- 40

- 40

- 40

- 40




SALE

15p 22 p 35p 68

The cost of each piece of fruit is
reduced by 10 p.

What are the new prices?

® 0. C

P

Mo says,
| know that 10 more

than 72 is 82
because | only have

to look at the tens
&5 digit.

\

/

Is he correct?
Explain your reasoning.






Day 8 - Literacy

WALT: Write our owny based on ‘Allie’'s Star.

TW’&WWMWWMWWMWMM‘AW’&Stan'.

wmbegounowmsi‘org/ Useﬂwewows&mwiafohdpgowand;dorﬁt}of\gﬂtyoun

Capital: letters
Full sbop&
Fing,ef\ spaces
Adjectives
Similes







